HOW WE MANAGE AMS

We always focus on Recovering clienis® invested CAPITAL and FEES

client fees = 1200 USD + Invested Capital = 2500 USD

Below Calculation is based on 0% of Reinvestment from profit, Each cycle = 15 days = 3000 USD profit

1st Cycle - 15 Dayvs
Profit Earned = 3000 USD
Profit Sharing = First time 0%
Client's Balance =-700 USD

2nd Cycle - 15 Days
Profit Earned = 3001 USD
Profit Sharing = 40% of Profit
Chent's Balance = 1100 USD

3rd Cycle - 15 Days
Profit Earned = 3000 USD
Profit Sharing = 40% of Profit
Client's Balance = 2900

4th Cvcle - 15 Days
Profit Earned = 3000 USD
Profit Sharing = 40% of Profit
Client's Balance = 4700 USD

5th Cycle - 15 Davs
Profit Earned = 3000 USD
Profit Sharing = 40% of Profit
Chient's Balance =6500 USD

6th Cvcle - 15 Davs
Profit Earned = 3000 USD
Profit Sharing = 40% of Profit
Chent's Balance =8300 USD

Profit Earned = 3000 UsSD
- Fees Paid = 1200 UsSD
- Capital invested = 2500 USD
= Net Balance =-700 USD
Carry Forward Bal =-700 USD
+ Profit Earned = 3000 UsSD
- Profi sharing = 1200 USD
= Net Balance = 1100 UsD
Carry Forward Bal = 1100 UsSD
+ Profit Earned = 3000 UsD
- Profi sharing = 1200 UsD
= Net Balance = 2900 USD
Carry Forward Bal = 2900 USD
+ Profit Earned = 3000 USD
- Profi sharing = 1200 USD
= Net Balance = 4700 USD
Carry Forward Bal =4700 USD
+ Profit Earned = 3000 UsSD
- Profi sharing = 1200 USD
= Net Balance = 6500 USD
Carry Forward Bal = 6500 USD
+ Profit Earned = 3000 UsSD
- Profi sharing = 1200 USD
= Net Balance = 8300 UsD
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IF YOU REINVEST YOUR PROFIT, CYCLE PERIOD DECREASES ACCORDINGLY, SEE HOW??7

ForexTradel

Fit o Fie | . =y o = i e

*1Cycle=10 =1 Cycle =7 +1 Cycle=25 *1Cycle=3 1 Cycle=12
DAYS DAYS DAYS DAYS DAYS

* 3000 USD Profit| (* 3000 USD Profit| |+ 3000USD Profit| |* 3000 USD Profit| |* 3000 USD Profit
Every cycle Every cycle Every cycle Every cycle Every cycle

If 10% of If 25% of If 50% of | If 75% of If 100% of

Net Profit = | |NetProfit _=| |NetProfit oo Net Profit - Net Profit |

Revinvested \J Revinvested A] Revinvested (/AN Revinvested A Revinvested f\]

&> 2 > > 2




